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OLAE 38 22Uz 9,800
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14 JIEt2 8= 60,000 62,500 22,500
OHgosME NEEH LaHl X2
2,500,000 +240H 2 60,000
S8 gdat N3 755,140 669,224 85,916
S 20,000
Al 735,140
301 EetE NS 742,640 649,224 93,416
== 20,000
Al 722,640
11 AALEIXIES 2,640 9,224 26,584
Outetsl #ItEdst ol
100,000 x2E *2 2 #6504 A 2,000
OMHSEEHA 301 23l Al
8,000 x40 +23] 640
14 0Bt 243 740,000 640,000 100,000
OSrEx=2 & 40,000
s 20,000
Al 20,000
O28Ex2 N3 (XA 700,000
307 elztol & 12,500 20,000 A7,500
02 2B YA E X 12,500 20,000 AT,500
Oo=as A 2,500,000 «57H 2 12,500




SN S
M SA0Y NEHA =AY - SAINHLUX/MHNE - DEF)

Rl 1Y ¥ BRI 25 A5 EEREE)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
g & X=X 83 23 714,710 716,590 21,880
JgRiEE 10,900 12,696 A1,7%6

201 er23| 6,300 8,000 A1,700
01 At2teltl 6,300 8,000 1,700
OJIgRA E2= M& 3,000
OFAFIINY It == 3,300
202 04| 3,600 3,696 VaN® ¢
01 =LHOHI 3,600 3.6%6 296
OJ1g & EXNRIES 0]
100,000 x2& *x32 +62] 3,600
203 HR=H] 1,000 1,000
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OUAERLIZ INHSHAET I X
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04 JIZtN22 XS 2+ 40,367 40,367
OFEHH 2 JIZNZ22R 2 19,727




Wo
ol

ok

o
el
&
0

L RIE
= K &0
= 00 mJ
R0 4 R0

2A:
&

Ctl:

AD S| mwmw
Klo MQ S S 818 —|==]=[=
E| ol mw, S e SIBIYR2[B
] SRS AAAAM M oo
o |o
o
el - °l° |glg|glE
n<) 2,2,%%%
RS glg|g|g|e m 8|8
(aV] e
YK QY
5,0,9%cmmnhﬁmwmm
< ™ OMNMnoOMMM m 3 mew
- o 1mm,5,3,m,1,mmo,m,mmmmmwmmmm S =
) S o g g clols glslslslsle 28888 8|8
s EHEEEEREEE R
ol ol ol B0 3o —
%%%8@ ol ol ol ol oy
- © X Al or ol
*mo*%oua S8 T2 = wooW o -
o [2 5 288 g B g w T g 5 5 5 %
I I I BT 8T X s ¥ 5 5 3 " m
23] o_.._%gw__n/bw %A_m\_olofc%._%‘_q_ﬁ_ > m m mu oFJ & W & mﬁﬁ:
. |82 8 mmmmm, c g g B g oW 55
g €95  5gfo8b Saf E B 5 8 ¢ 03
o+ o g - g 8 &0 :
= n W B0 « § 8
< ™ = O oH o
- I’ CUN . _ 8
™ N = = ¥ o or — o
) o 0 - - Y R |~ o @
oF 5 @ &0 = = = o H uo | 0 = I
o N E=l _ = =< ~ of - — Mo _ = to
uJ 00 m s ) N D 80 RO %0 <F w0 <[ Frm T 5 <
i L R 2 _nniEE 0 B B RO B ur |2 s UE
"l Wk <R ORD T S Ok Wk|g|lm O3 T O = _ K =" 5T S
moJxTa@mow_w___Mﬁm_xgozm_@@ - ga%vgau%xm By =9
0 Jo 0o 0 0 0 ® o0 S T 305 wZud &___Aﬁmﬁﬁ_m % |g B W TR =
x © X W R R R A EA AL nERw Taso0 |E
I+ zls ©0 O - g_xo__uoo@ﬂommu_:uc sloF T O =®m 3o ol |3
« O « O RIR ® =13 FooRO OU w0 3
N %OO%1OW°IHO___MH_OTM __Hoowamm%mw
5 YIRNID|R|s|5
=~ g0 | |W|R|° 5 600N 0|5Y
RS © <1
m|~

o0




A BRI
M AZYRAZHI(ZHM) (OIEHIIE)

el JI=2 3 (Gt H2)
SA - B BRA(SH) - HRA - of v G o HIDE2
Oul&2% 20|
20,0003 x26 2«33 1,560
203 =] 11,700 12,300 2600
01 J[2=2H PRSI 7,500 7,500 0
OBM=X=% 7,500
04 FAE2EERFAH 4,200 4,800 2600
ORMSYLEwY) 350,002 122 4,200
BRESEHI(EY - S2IPLUT/0Y - 3 50,000 4,000,000 3,950,000
WS XIE(Z /) 50,000 4,000,000 A3,950,000
WS AHHXIE(Z M) 50,000 4,000,000 A3,950,000
701 JIEHRIHSEES 50,000 0 50,000
01 JIERI AN ES 50,000 0 50,000
OdgXAxd & 22| S8 d&= 50,000




